8

1

[> notes

1. NON—IMPACT RESISTANT GLAZING OPTION —
.125" MINIMUM DSB GLAZING MEETS UNIFORM
STATIC DESIGN PRESSURES SHOWN ON THIS
DRAWING. GLAZING SHALL HAVE A MAXIMUM
HEIGHT OF 6.70° AND A MAXIMUM LENGTH OF
24.00". GLAZING IS NOT IMPACT RESISTANT
AND DOES NOT MEET THE REQUIREMENTS FOR
WIND—BORNE DEBRIS REGIONS.

2. IMPACT RESISTANT GLAZING OPTION —
IMPACT RESISTANT GLAZING SYSTEM MAY BE
INSTALLED IN INTERMEDIATE SECTIONS (WITH
OR WITHOUT DECORATIVE INSERTS). GLAZING
SHALL BE 1/4" POLYCARBONATE. MAXIMUM
GLAZING DIMENSIONS SHALL BE 11° x 17°,
FASTENED WITH A MINIMUM X 17 SMS:_3X
ALONG THE HORIZONTAL AND 2X ALONG THE
VERTICAL.

3. MINIMUM_OF 1" OVERLAP ON BOTH JAMBS
REQUIRED TO MEET NEGATIVE DESIGN
PRESSURES.

4. SLIDE LOCKS OR OPERATOR REQUIRED.

5. SECTION STEEL TO HAVE THE FOLLOWING
MINIMUM THICKNESS:

434, 436 — 25 GA

6. THE DESIGN OF THE SUPPORTING
STRUCTURAL ELEMENTS SHALL BE THE
RESPONSIBILITY OF THE PROFESSIONAL OF
RECORD FOR THE BUILDING OR STRUCTURE
AND IN ACCORDANCE WITH CURRENT BUILDING
CODES FOR THE LOADS LISTED ON THIS
DRAWING.

7. TRACK CLIPS SHALL BE LOCATED WTH
CENTERLINE OF BOTTOM CLIP SPACED 10"
MAX FROM BOTTOM OF TRACK AND REMAINING
TRACK CUPS SPACED AT 24 0.C. MAX.
SPACING BETWEEN TOP TRACK CLIP AND
SPLICE PLATE SHALL BE 30" 0.C. MAX.

8. WHEN MOUNTING TO WOOD, DOOR JAMB TO
BE MINIMUM 2x6 STRUCTURAL GRADE LUMBER.
REFER TO JAMB CONNECTION SUPPLEMENT
FOR ATTACHMENT TO SUPPORTING
STRUCTURE.

13 GA HORIZ ANGLE \

12 GA MIN HORIZ
TRACK

12 GA CONTINUOUS
WALL ANGLE

12 GA MIN_VERT
wack ]

5/16"x1-5/8"

LAG SCREW AT EACH
PAIR OF HOLE
LOCATIONS FOR WOOD
SUBSTRATE. SEE SHEET
3 FOR MOUNTING TO
OTHER SUBSTRATES.

(2) 1/4—-20x9/16" TRACK
BOLTS AND 1/4—20 HEX
NUTS AT EACH TRACK
CUP LOCATION

(SEE DETAIL A SHEET 3)

11 GA TRACK CLIPS—/

(WELDED, BOLTED, OR
RIVETED TO WALL
ANGLE) SEE NOTE 7 AND
DETAIL F SHEET 3

SLIDE LOCK BOTH ENDS—|

(NOT REQUIRED WITH
OPERATOR — SEE NOTE 4)

(4) SECTION SOLID DOOR

NOTE.
SHOWN. SEE SHEET 2 FOR

C—CHANNEL LOCATIONS ON DOORS

SUPERIMPOSED DESIGN PRESSURE
LOADS ON SUPPORTING STRUCTURE

DOOR

wpTH | HEIGHT

MAX | DoOR | MAX UNIFORM LOAD EACH JAMB
(PLF)

242" AL +381.8/—427.8

WITH OTHER SECTION QUANTITIES AND
SEE NOTE 1 & 2 THIS SHEET FOR
GLAZING OPTION.

;tnoov

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +31.6/—35.4

MAX WIDTH: 24'-2"

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 24 "'p "-.

8

-

REVISIONS

APPROVAL

TLC

TLC

N

RN

=T

G b

R

)

2

)

1572

b4
m

N

SR\

53

£
i\
Al

N7
\a

L

)

Y

(OUTSIDE END STILE

=W

X

i

e

% J.C.VOELKEL T 1 Rl

floocoeccccccccescecsoscncccscns

THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.

<% 133174

W HeH

v v, OVER 500 +008/-003

upz

‘\ffloi\]ﬁ_
N

wl+

PROPRIETARY PROPERTY OF OVERHEAD DODR CORPORATION AND ITS AFFILIATED COMPANIES. THIS DRAVING
TISCLOSED TO ANYDNE WITHOUT THE PRIDR VRITTEN CONSENT OF OVERHEAD DOOR CORPORATION NO DISCLOSURE OF
TO DPERATE AS A LICENSE OR AUTHLRIZATION TO USE IT FOR ANY PURPOSE VITHOUT THE SPECKF] CONSENT OF OVERHEAD DOOR CORPORATION.
FINISH X [ wee ] WG TIND
TN [VINDLOAD,OPTION CODE
N/A T CLARK 421/423/427/429/434/436,
6/-354 PSF, 24'-2" MAX
W atan e
MEASURE — s D- 411803
€A T CLARK fsons — N/A [se=r1 o 3



chris
Texas


7 6 S 4 3 [ 1
(12) SECTION DOORS WTH:
(15) 6" 16 GA 50 KSI C—CHANNELS AND-\
(6) 4° 16 GA 80 KSI U-BARS
LOCATED AS SHOWN [F4
1/4—20x9/16" TRACK BOLT il (11) SECTION DOORS WITH
AND 1/4-20 HEX NUT 7 (13) 6" 16 GA 50 KSI C—CHANNELS AND
THROUGH THE SLOT IN_THE i (7) 4" 16 GA 80 KSI U-BARS
TRACK AND TRACK CLIP- LOCATED AS SHOWN IV
.. . (10) SECTION DOORS WITH:
. (12) 6" 16(6;\ 50 KSI C—CHANNELS AND
DETAIL A 6) 4” 16 GA 80 KSI U-BARS
BesSImen o B S
CARRIERS, EACH ATTACHED WITH
@) 1/4—14x7/8 SELF DRILLING (9) SECTION DOORS WITH
CRIMPTITE SCREWS (11) 8” 16 GA 50 KSI C—CHANNELS AND
(5) 4" 16 GA 80 KSI U-BARS
3" STEEL ROLLER WITH LOCATED AS SHOWN (5
s e e o \
A A :
TOP ROLLER LOCATION. ! (8) SECTION DOORS WITH
1/4" MAX BETWEEN PUSH j (10) 6" 16 GA 50 KSI C—CHANNELS AND
NUT AND BRACKET: : (4) 4° 16 GA 80 KSI U-BARS
/ LOCATED AS SHOWN
y
i (7) SECTION DOORS WITH
(8) 6” 16 GA 50 KSI C—CHANNELS AND
DETAL B (5) 4" 168 GA 80 KSI U-BARS
LOCATED 'S SHOWN [
. — LE BOTTOM BRACKET b
ADD (2) 1/4-14x7/8" SELF 11 GA DOUB .
SCREWS . ATTACHED WITH (14) 1/4—14x7/8
gzlsl-llflagcogké%ETﬁ«5|D§EENo HINGE, e SELF DRILLING CRIMPTITE SCREWS (4 » {8), SECTIoN DOoRS Wi
/ OF WHICH ARE USED IN ATTACHMENT (7) 87 18 GA 50 KSI C—CHANNELS AND
3" STEEL ROLLER WITH 9/16” / OF CHANNEL AND STRAPS AND 8 OF (4) 4" 16 f& :?z gsil\suggsm
DIA. X 9" LONG STEM AT ALL 1 / WHICH ARE USED TO ATTACH 12 GA 1%
ROLLER LOCATIONS EXCEPT ! I ROLLER CARRIERS) P
TOP AND BOTTOM ROLLER i | (5) SECTION DOORS WTH
: 15 (6) 6° 16 GA 50 KSI C—CHANNELS AND
11 GA MODIFIED WIDE BODY \ T ; /1§IEE','AR2%R,_;"NT£' (3) 4" 16 GABD KSI U-BARS
(EN)D r}mcz ATTACHED WITH \ ; STEM AND 7/16" PUSH LOCATED AS SHOWN
4) 1/4—14x7/8" SELF .
| NUT. 1/4" MAX BETWEEN
DRILLING CRIMPTITE SCREWS A\ A \, BUSH ROE X e T, (4) SECTION DOORS WITH
DETAL C (5) 6" 16 GA 50 KSI C—CHANNELS AND
I (2) 4" 16 GA 80 KSI U-BARS
ATTACH U-BARS WITH LOCATED AS SHOWN 14
(2) 1/4—14x7/8" SELF AN
DRILLING CRIMPTITE_SCREWS 7 .
AT ALL STILE LOCATIONS, TYP. _R | \
14 GA WIDE BODY N
INTERMEDIATE HINGE ! \F VRS
ATTACHED WITH (4) / LS NS ~- ..
U e ST OF TEM (ot o £ sy wn
..... = 4) 1/4—14x7/8" -
DETAL D Py P:‘ esscoe, 5* \‘ DRILLING CRIMPTITE SCREWS ..
- AV e N AT EACH STILE LOCATION AS .
P d 9 K ‘-.\9 . J
Lo ATTACH EACH 6" C—CHANNEL
L]

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +31.6/—35.4

MAX WIDTH: 24'-2"

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 24

"J.'C. VOELKEL

h<> 133174
O.Q
|‘¢<~$ JCE

‘\\ SIONAL ENas
s~

(X s
( NS?'O "\é" !

nlnnnn.l....nnouononnooncnol

WITH (1) 1/4—14x7/8" SELF \ =

DRILLING CRIMPTITE SCREW AT
EACH STILE LOCATION AS
SHOWN

TI'E]RAVWANDALL
AND INFDRMATIDI
ANY DF THIS DRAVING DR

J. CHRISTIAN VI

DELKEL, PE
312 N. NEW WARRINGTON ROAD, UNIT 1A
PENSACDLA. FL

TXPE 133174

REF_DWG

8

=

6 I

OTHER_INFORMATION CONT /D PROPRIETARY PREPERTY OF DVERVEAD TOCR CORPIRATION AND 1T WFTILIATED CPANIES,
u,mvm.:mmpm,mvum!mm:nmmwnm TO ANYINE ITHLIT THE PRILR VRITTEN GINSENT (¥ (IVERFEAD IR CORPERATION 0 DISCLOSURE D
DETRATIN IS INENDED TO [PERATE A5 A LICENSE (R AUTHIRIZATION T0 USE IT FIR MY PURFOSE VITWIUT THE SPECKIC VRITIEN CINSENT [F VERHEAD DOER CURPLRATION
. € The tGemmine. The Crigial DATE
e, e mu.mn OPTION CODE 2052
Py P CLark | 114721 431/423/427/429/434/436,
o s 6/-354 PSF, 24'-2" MAX
e RIAN 1/21/21
N/A ‘APPROVED BV, & D- 411803
T CLARK |S/85/81 oo 7p Jemipw 3

1



chris
Texas


8 7 6 S 4 3 2 1
MIN 3/16" THICK RUBBER GASKET
STEEL FOR MOUNTING 1/8" ANNEALED DSB GLASS (MIN)
MOUNTING WALL ANGLE: £60XX MIN DLO= 5°X20"
TRACK CLIP
R QPTIONAL: WALL ANGLE MAY BE ATTACHED TO
1/4—-20x9/16 SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
TRACK BOLT AND SELF DRILLNG SCREW WITH 1" 0.D. WASHER AT
1/4-20 HEX NUT EACH HOLE OR PAIR OF HOLE LOCATIONS IN
TRACK LIEU OF WELDING
MOUNTING TO STEEL DETAIL
RUBBER FRAME GASKET
(NON—INSULATED DQORS)
e U e
LOCATION FOR WODD
SUBSTRATE.
MOUNTING WALL ANt
\CK CLP
(2 1/4-20:0/16"
PLASTIC FRAME ;Rm;sggg
1/8" ANNEALED DSB GLASS (MIN) nes
DLO= 5 3/4"X22 7/8" -
(10) #8X2" SHEETMETAL SCREW
(1) PER VERTICAL FRAME LEG
(1) PER HORIZONTAL FRAME LEG
2 3/4°
BLASTIC FRAME (INSULATED
CONTINUOUS

WALL ANGLE:

(2) 1/4" X 7/16,
SEMI TUBULAR :
RIVITS OR (2) !
1/4"-20 TRACK \
BOLTS WITH NUTS"
OR (2) .28" DIA
RESISTANCE SPOT
WELDS

STATIC PRESSURE RATINGS APPROVED SIZES

DESIGN PRESSURE(PSF): +31.6/—35.4 [MAX WIDTH: 24'~2

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: YES

MAX SECTION HEIGHT: 24

TPEMVWMBALLDTIERM \TIDN CONT/

AND INFDRMATIDI
ANY DF THIS DRAVING DR

8 7 |

]
4...J:.C. VOELKEL 7
(AR ‘e d
3 (13317%..%:;/,
ke CENSEr S
‘\{9\3 ONAL Bos

A"

N.]NVHI.E[R]NPART,HAYNDTEGBPIEIIINMNWIER[R
INFORMATION IS [INTENDED TO

NIN 3/16” THIK
STEEL FOR MOUNTING:

MOUNTING WALL ANGLE-

[RACK CUP-
QPTIONAL: WALL ANGLE MAY BE ATTACHED TO
W SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
SELF ILUNG SCREW WMITH 1° 0.D. WASHER AT
1/4-20 HEX NU PAIR OF HOLE LOCATIONS IN
TRACK ING

AND PROPRIETARY PROPERTY.
DISCLOSED TO ANYONE WITHOUT THE PRIOR VRITTEN CONSENT OF
DPERATE AS A LICENSE DR AUTHORIZATION TO USE IT FOR ANY PURPOSE VITHOUT THE SPECIF]

OVERHEAD DODR
IC_VRITTEN

rwmtmmunmmmmmmm
MAT.IDN. NO nm.usun: OF
CONSENT OF I‘.IVERH DOOR

CORPORATION.
——”‘ VINTLCWD,0P TION CODE 2052
"' CLark | 114721 421/423/427/429/434/436,
T = £/-354 PSF, 24'-2° MAX
J_QIAN 1
T CLARK | S/@5/21 |e—7a [s=3w 3



chris
Texas


	2050 411802-rA SH1
	2050 411802-rA SH2
	2050 411802-rA SH3
	2052 411803-rA SH1
	2052 411803-rA SH2
	2052 411803-rA SH3

		2021-06-02T09:04:40-0500
	John Christian Voelkel




